Reasoning

1. ‘Players’ are related to “‘Team’ in the same

way as ‘Books’ are related to “......... "
(A) Exams (B) Library
(C) Reading (D) Writer

(E) Chapters

. Shreya started from Point P and walked 2 m
towards West. She then took a right turn and
walked 3 m before taking a left turn and
walking 5 m. She finally took a left turn, walked

3m and stopped at Point Q. How far is Point Q
from Point P ?

A) 2m (B) 6m
€ 7m (D) 8m
(E) 12m

3. Inacertain code ‘where have you been’ is
written as ‘been 4 have 3 where 2 you 1’ and
‘visiting London this summier’ is written as
‘London 4 summer 3 this 2 visiting 1’. How will
‘fepair may computer yesterday’ be written in

=+ the same code ?
)
(B)
(©)
(D)
(E)
wFour of the following five are alike in a certain
way based on the English alphabetical series

nd so forma group. Which is the one that
tdges not belong to that group ?

computer 4 repair 3 may 2 yeste'rday 1
yesterday 4 repair 3 may 2 computer 1
computer 1 may 2 repair 3 yesterday 4
yesterday 4 may 3 repair 2 computer 1
computer 4 may 3 repair 2 yesterday_ 1

(A) ML (B) WVT
) OMK (D) JIG
E) TsQ

r.of the following five are alike in a certain
.and, so form a group. Which is the one
3t does not belong to that group ?

Diameter

(B) Circumterence
(D) Circle

Directions—(Q. 6-—10) Study the following |
information carefully and answer the given
questions—

A B, C, D, E F, G andH are sitting around a
circular table facing the centre but not necessarily
in the same order.

(a) C sits third to right of E

(b) G sits second to left of H

(¢) H is not an immediate neighbour of E

and C

(d) F and A are immediate neighbours of
each other

{e) Only one person sits between F and B

6. Four of the following five are similar in a
certain way based on their position in the
seating arrangement. Which of the following
does not belong to that group ?

(A) EH (B) CF
(C) AG (D) BD
(E) HG

7. Who amongst the following represent the
immediate neighbours of D ?

(A) E,H (B) C, G
©) F,B (D) H, G
(E) C,B

8. What is the position of A with respect to G in
the above arrangement ?

(A) Third to the right
(B) Second to the left
(C) Fifth to the right
(D) Immediate right
(E) Third to the left

9. What will come in place of the question mark
(?) according to the above seating arrange-

ment ?

EF CG HB FA ?

(A) GD (B) CG
(C) GH (D) BH

(E) CD
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10. Who sits to the immediate right of A ?

(A) E (B8) C
(C) B O F
(E) D

Directions—(Q. 11-15) Study the following
arrangement carefully and answer the questions
given below—

6425285264139181258635149
47327259

11. How many 4s are there in the above
arrangement, each of whichis immediately
preceded by a digit which has a numerical
value of more than four ?

(A) None (B) One
(C) Two (D) Three
(E) More than three

12. Which of the following is seventh to the left of

the twentieth from the left end of the above
arrangement ?

(A) 3 (B) 9
€) 2 (D) 7
(E) 1

13. If all the even digits are deleted from the
above arrangement, which of the following will
be tenth from the right end of the arrange-

ment ?
(A) 9 ®) 5
©) 1 (D) 3
® 7

14. How many such 5s are there in the above
arrangement each of which is immediately

preceded by an odd digit and immediately
followed by an even digit ?

(A) None (B) Qne
(C) Two (D) Three
(E) More than three

15. How many such 1s are there in the above
arrangement, each of which is immediately
preceded by a perfect square ?

(A) None (B) One
(C) Two (D) Three
(E) More than three

Directions—(Q. 16-20) Study the following
information to answer the given questions—

In a certain cade ‘ring a bell’ is writtenas ‘5 8
2’, ‘did not ring’ is written as ‘3 5 9' and ‘not a

reason’ is writtenas 72 9'.

16. Which of the following represents ‘did not’ ?

(A) 23 (B) 29
(C) 35 (D) 52
(E) 93

17. What is the code for ‘bell’ ?
(A) 5 (B) 8
©) 2 (D) 7

(E) Cannot be determined
18. What does 2’ stand for ?

(A) ring B) a
(C) bell (D) reason
(E) not
19. What does 7’ stand for ?
(A) not (B) a
(C) ring (D) reason

(E) Either ‘a’ or ‘not’
20. What is the code for ‘ring’ ?

A 8 (B) 2
©C) 5 (D)3
(E) 9

Directions—(Q. 21-25) Following questions
are based on the five three digit numbers given
below—

219 742 936 587 853

21. If all the numbers are arranged in descending
order from left to right, which of the following
will be the product of the first and the second
digits of the number which is exactly in the
middle of the new arrangement ?

(A) 18 (8) 28
(C) 54 (D) 21
(E) 45

22. One is subtracted from the first digit and two is
subtracted from third digit of each of the
numbers. What will be the difference between
the first digit of the highest number and the
third digit of the lowest number ?

(A) 3 (B) 4
€ 5 (D) 2
(E) 1

23. What will be the resultant if third digit of the
highest number is divided by the first digit of
the lowest number ?

(A) 15 B) 2
© 3 (D) 4




24. It the positions of the first and the third digits of
each of the numbers are interchanged, what
will be sum of alf the digits of the second

highest number thus formed ?

(A 20 (B) 16
(c) 18 (D) 13
(E) 12

25. If all the digits in each of the numbers are
arranged in descending order within the
b numbet, which of the following will form the

lowest number in the new arrangement of

numbers ?
(A) 219 (B) 742
(C) 936 (D) 587

3 (E) 853

£ Directions—(Q. 26-30) Study the following

information carefully and answer the given

questions —

P,Q,R,S T,V and W are sitting in a straight
line facing North but not necessarily in the same
order.

(a) Q sits third to right of T. W sits second to
right of Q.

(b) V and R are immediate nelghbours of
each other. V is not an immediate
neighbour of T.

(c) Only one person sits between S and P

(d) Sis not an immediate neighbour of Q

Four of the following five are alike in a certain

way based on their seating positions in the

above arrangement and so form a group.
Which is the one that does not belong to that

26.

group ?

(A) Qw ®) 1Tv
-«(C) RQ (&) vw

_(E) PS

=T

? ’ SHOW'n many persons sit between Rand P ?
4 (B) One
(D) Three

reme comers of the line ?
: B) ST
D) T,R

 Tight
teleft

(D) Fourth to the left

\lcrv of the following pairs sits at the
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30. If all the persons are made to sit inalpha-
betical order from. right to left, the positions of
how many will remain unchanged as compa-

red to the original seating positions ?

(A) None (B) One
(C) Two (D) Three
(E) Four

Directions—(Q. 31-35) In each question
below are two statements followed by two conclu-
sions numbered { and Ii. You have to take the two
given statements to be true even if they seem to

. be at variance from commonly known facts and

then decide which of the given conclusions logically
follows from the given statements disregarding
commonly known facts. Give answers—

(A) i only conclusion | follows.
(B) If only conclusion )| follows.

(C) If either conclusion 1 or conclusion H
follows.

(D) if neither conclusion | nor conclusion H

follows.

(E)

If both conclusion | and conclusion
follow.

31. Statements :

No house is an apartment.

Some apartments are bungalows.
Conclusions :

. No house is a bungalow.

i, All bungalows being houses

possibility.

Statements :

Al plants are animals.

All insects are plants.

Conclusions :

. Allinsects being animals is a possibility.
fil. There is a possibility that some animals

are neither insects nor plants.

Statements :

All pens are inks.

No ink is an eraser.

Conclusions :

. Nopenis an eraser.

. Some erasers are pens.

Statements :

Some trains are buses.
All trains are ships.

is a

32.

34.
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35.

36.

37.

41.

42.

Conclusions :
. All ships are buses.

II. All those trains if these are buses are also
ships.

Statements :

Some numbers are digits.

All digits are words.

Conclusmns

. Al numbers being words is a pOSSlbIIIty
. All digits being numbers is a possibility.

Which of the foilowing will come in place of

the question mark (?) according to English
alphabetical series ?

CDB HIG MNL RSQ ?

(A) UVT (B) WXY
(C) vwWu (D) TVU
(E) Wxv

The positions of how many alphabets wili
remain the same if each of the alphabets in
the word WHILST is rearranged in the
alphabetical order from left to right ?

(A) None (B) One

(C) Two (B) Three

(E) More than three

38. How many meaningful English words can be
formed with the letters MDU using each letter
only once in each word ?

(A) None (B) One
(C) Two (D) Three
(E) More than three

Directions—(Q. 39-40) Read the following

information carefully and answer the questions
which follow—

Mehul starts from point A, walks 6 m towards
South to reach Point B. He then takes a right turn
and walks 4 m to reach Point F before taking a
right turn again and walking 6 m to reach Point C.
From Point C he takes nght turn again, walks 8 m
and stops at Point E.

39. If Mehul takes a right turn from Point E and
walks 6 m to reach Point D, how far and

towards which direction will Point D be from
Point B ?

(A) 6 m towards West (B) 8 m towards East
(C) 4 mtowards East (D) 6 m towards East
(E) Cannot be determined

40. Which of the following three points fall in a
straight line ?

(A) C,A,B (B) F,B,A
C) F,AC (D) E,A, B
(E) C,AE

Directions—(Q. 41-50) In each of the questions given below which one of the five answer figures
on the right should come after the problem figures on the left, if the sequence were continued ?

Problem Figures

Answer Figures

AOPCT|OCTPAIAGCTX|®@TACA|A®TXB

O XxBTA{BA®TF|oXxATB|®@XxBTFiBA® T*

(A) (B) © O (E)

T T T T 1

T T

(A) ®B) © D 2
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AO<><>UAUA==<>O_|OV= = A Ulv x» =[a 0 v[= 0o ofv = %
4. |= cic =< v LA * < vio ulc =|% AlO u
vu**ovc*ouvc‘cOu O *x ciA S c|& U XU v CclA c O
(A) B) (®) (D) E)
oooloocolooojooo|loooO coool|oocoolo o ocoolooo
45. |00 0ojooolooojooolooo 0000|0000 0 00|00 O
- looojoooloo o0 olo 0000|0000 0 o00fl00O0
o) 0 0 0000 o0 ooloo
A) B) (&) (D) E)
b @ clov »z|l-Nqlz L Yld = A h 219 Thih 2|9 hTih 0
46, f C w q z — F — J T
ZT hif = U s Clo o 1D 23 9 zo ol o z|lZzmwmolo o ZIN o
: @» ® ©O© O™ ®
% N N\
Coa b R X e [P XXX
§ .
a ) ®) (&) D) E)
,‘" - — < —
48. { I 1 \%’\ T/) T——s Zts K‘ ’Xﬁ
é LIV [Ty
. ' 02V ®) (&) D) ®
o loofa [rafo [anfx fealA oo yx lasla fero [afa faufa [
49. A o o o o o) A * A A
* Alo Ala *x|A Oix A A Ol oA oloo olo o
02V ®B) © ) ()
- 50. r\"r\ V,-\n unu uuu r\uu uuu nnr\ r\nr\ nvn
@ | O 1 O | O ] O
02V (B) <) M) B
Answers with Hints 4. ©ML J WV T K
_ I I_TI__T
1. (B) As group of ‘Players’ is called ‘Team’ -1 -2  -1-2 -2 -2
similarly group of ‘Books’ is called ‘Library’. I GT S Q
Sl SO RERRE
5 ‘é’ w E 5. (D) Rest of others are parts of circle.
: p S For Q. 610 10
,1,Q1, . S 2m
|stancé fromPtoQis5+2ie 7m. P
ere have you been Toright{ H
4 have 3where2you1 B

hg.»London this 'summer

y oomputer yesterday -2 -2
mpute ri4 ; rhay 3 repair 2 yesterday 1 7. D) 8.(B)

on 4 summer3thns2v:sntmg1 6. )EHCFAGBDHG

Lt Lt

+2 -2 -2

s T T
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Q. +2  +2 32 42
R N

EFCGHBFAGD
Lt
+1

+1 +i +1 41
10. (B)
11. (D) 64, 64 and 94

12. (B) In the given arrangement 20th from the left
is 6’ and 7th to the left of '6’ i is ‘9.

13. (B) Atfter removing all the even digits :
55139115351973759
Here 10th from the rightis ‘5",

14. (A)
15. (C) 41 and 91
For Q. 16 to 20
ringabell = 582
did notring = 3 59
and notareason = 729

ring — 5, not — 9, a— 2 bell — g, did — 3,
reasons — 7.

16. (E) did not = 93

17.(8) 18.8) 19.(0) 20.(c)
21. (B) 219 742 936 587 853

936 853 [742] 587 219

7x4 = 28
22. (E) 219 742 936 587 853

640 [834] 485 751

8-7 = 1
23. (C) .
24. (A) 219 742 936 587 853
912 247 639 785 358
7+8+5 = 20
25. (B) 219 742 936 587 gs53
921 963 875 853

For Q. 26 to 30
TRVQPWS N

cocecee .l

S
26. (D)QWTVHQVWPS

Lt Lt Lt Lt Lt
-2 -2 2 T 3

27. (C) o2s. (B) 29 (A)
.MT RV a P w
® O o o o o
W V T 8 R Q
Apartments

Tew

31. (D)

Houses Bungalows

Banga|ows

Houses  Apartments

32. (E) Insects

@ Animals
Plants

33, (A) Inks

@

34. (B) Buses
Trains

Trains Buses




